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QUESTION 1

An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
the client and the server. Which two meet all of these requirements? (Choose two.) 

A. X.509 and XKMS 

B. XACML and XKMS 

C. SSL and mutual authentication 

D. XML Encryption and XML Digital Signature 

E. Private network and XML Signature 

Correct Answer: CD 

 

QUESTION 2

Which two statements are true about creating a Web service with JAX-WS? (Choose two.) 

A. Stateless Web services must be created with HTTP servlet endpoints. 

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain. 

C. All Java-based endpoints share a common packaging model. 

D. EJBs can serve as endpoints if hosted in a container with runtime and service support. 

E. JAX-WS supports creating services from source and compiled code without a WSDL. 

Correct Answer: DE 

 

QUESTION 3

Based on separation of concerns, which two are correctly implemented in the processing layer of a Web service?
(Choose two.) 

A. validation of XML documents 

B. saving document contents in a database table 

C. application of the business logic to the XML document 

D. translation of incoming XML documents to their internal XML representations 

E. a new SOAP message for exceptions during validation of XML 

Correct Answer: BC 
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QUESTION 4

Given the Java fragment and schema: 

1.

 //-- Java code fragment 

2.

 public enum USState {MA, NH} 

3.

 //-- Schema fragment 

4.

  

5.

  

6.

  

7.

  

8.

  

9.

  

10.

 // .NET auto generated code from schema 

11.

 public enum usState { NH, MA } 

Which statement is true about .Net and WCF interoperability for this data? 

A. Based on the fragment, enumerations map well between Java and .Net. 

B. The subtle differences in the variable names make it clear these enumerations are NOT interoperable. 

C. The XML schema reveals the type on the enumeration is lost across the platforms. 
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D. This exchange would be interoperable if the annotation @XmlEnum was applied to the Java method. 

Correct Answer: A 

 

QUESTION 5

A Java client, running behind a firewall, needs to connect to a UDDI registry that is deployed outside the firewall. The
client is using the Java EE 5 implementation of JAXR. The client creates a set of properties that specify the proxy host
and port information for the network in which the client is running. What are the remaining steps required by the JAXR
client to connect to the UDDI registry? 

A. assign the properties to a connection factory and create the connection 

B. specify the URL of the UDDI registry in the properties, assign the properties to a connection factory, and create the
connection 

C. specify the URL of the UDDI registry in the properties, assign the properties to a connection factory, assign the
properties to a service binding, and create the connection 

D. specify the URL for the UDDI registry and the tModel in the properties, specify the search criteria for services, assign
the properties to a service binding, and create the connection 

Correct Answer: B 

 

QUESTION 6

A company is creating an XML schema that describes various training materials available for purchase by students. 

Given the namespace aliases and schema that appear in the WSDL file for a document-style Web service: 

xmlns:xsd="http://schemas.xmlsoap.org/wsdl/" 

xmlns:book="http://www.sun.com/books" 

... 
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Which is a valid message element for this WSDL file? 

A.  

B.  

C.  

D.  

E.  

F.  

Correct Answer: D 

 

QUESTION 7

A document-style service defines a document passed to the Web service using xsd:anyType in the WSDL file that
describes the service. How should the document be typed in Java? 

A. use javax.xml.soap.Element 

B. use javax.xml.soap.Node 

C. use javax.xml.soap.SOAPHeader 

D. use javax.xml.soap.SOAPElement 

E. use javax.xml.soap.SOAPFault 

F. use javax.xml.soap.SOAPBodyElement 

Correct Answer: D 

 

QUESTION 8

A client sends a required SOAP header as a SOAP message. The server-side process determines that information in
the header is invalid and generates a SOAP fault. What is the appropriate fault code for this type of SOAP fault? 

A. Client 

B. Server 

C. MustUnderstand 

D. VersionMismatch 

E. HeaderError 

F. InvalidHeader 

Correct Answer: A 
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QUESTION 9

A purchase order Web service is designed to be synchronous, request-response, and HTTP- based. The existing
service processes the request immediately. Because of new business requirements, the service can take up to ten days
to perform a credit check before processing the order. Which two design changes need to be made? (Choose two.) 

A. The client needs to use dynamic proxies instead of stubs. 

B. The client needs to develop and deploy a Web service to accept callbacks. 

C. The service only needs to change the WSDL from rpc-literal to document-literal. 

D. The client and the service need to establish a mechanism to correlate the messages. 

E. Given delays of up to ten days, a polling strategy is more efficient than callback. 

Correct Answer: BD 

 

QUESTION 10

Which three can an EJB-based endpoint use? (Choose three.) 

A. HTTP sessions 

B. Java EE 5 declarative security 

C. Java EE 5 programmatic security 

D. client-demarcated transactions 

E. container-managed transactions 

Correct Answer: BCE 

 

QUESTION 11

Which three security technologies are included in WS-Security? (Choose three.) 

A. security pattern injection 

B. encryption 

C. single sign-on 

D. security tokens 

E. digital signatures 

Correct Answer: BDE 
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QUESTION 12

A developer is creating a session bean EJB endpoint for a new application. Which three statements are true about the
service? (Choose three.) 

A. It needs to be packaged as a WAR file. 

B. It needs to be packaged as a JAR file. 

C. It needs to be packaged as a .lib file. 

D. The class must not be final or abstract. 

E. It must implement the javax.ejb.SessionBean or javax.ejb.EntityBean interface. 

F. It can be declared an EJB via the @Stateless annotation. 

Correct Answer: BDF 

 

QUESTION 13

A company is building a customer relationship management system that is to be deployed on a customer\\'s network,
and they want software functions to be reused and combined in different modules in the system. The Director of
Technology has determined that the new system should utilize both Web services and a Service Oriented Architecture
(SOA). Which two statements about Web services in an SOA are correct? (Choose two.) 

A. A Web service must be discovered from a UDDI registry in an SOA. 

B. SOA and Web services both use the HTTP protocol at the transport layer. 

C. A Web service must publish itself to a UDDI registry to become part of an SOA. 

D. SOA is a way to design a system and Web services are a possible implementation. 

E. SOA is used for stateless invocations, and Web services for stateful invocations. 

F. SOA emphasizes the concept of service encapsulation and Web services fulfill a service contract. 

Correct Answer: DF 

 

QUESTION 14

Which two statements are true about elements in a WSDL document? (Choose two.) 

A. Operation is an abstract set of port types supported by one or more endpoints. 

B. Service is an abstract set of operations supported by one or more endpoints. 

C. Message is an abstract description of an action supported by the service. 

D. Operation is an abstract description of an action supported by the service. 

E. Binding is a single endpoint defined as a combination of an operation and a network address. 
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F. Message is an abstract, typed definition of the data being communicated. 

Correct Answer: DF 

 

QUESTION 15

What is an accurate description of the handling of application exceptions thrown by a JAX- WS service endpoint? 

A. Application exceptions can be mapped to faults in WSDL. 

B. Application exceptions are NOT handled by JAX-WS clients. 

C. Application exceptions are always propagated to JAX-WS clients as RemoteExceptions. 

D. Application exceptions are always propagated to JAX-WS clients as WebServiceExceptions. 

E. Application exceptions are always propagated to JAX-WS clients as SOAPFaultExceptions. 

Correct Answer: A 
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